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lnsfructions .fo‘r Candidatcs

1. erte your Roll No. on the top 1mmed1ate1y on recc:pt
- of thlS question paper.

2. All questions are divided into sectiqns'A and B.
_Atte;mpt any '5 out of 7 questions from eacp section,

3. \Sectlon A has short answer questiong ‘and each
carrles 5 marks whereas Section B contains long
answer questions and 10 marks. -

4. Answers may be written either in Engligh or Hlnd1

o but the same medlum should be used throughout the
paper ‘

P.T.0O.



ﬁﬁﬁg—awm-a%ﬁwm%mw%l T

2.
@gﬁﬁﬁ%%f&ﬁ"rsm%%maﬁm

" ﬁgg%fagaaﬂum%'wm 5 vier 1 & wAH wE T
afaﬁés?r&am%' SR FH 10 Sem = 2

a. gm-ﬁwmaﬁmﬁaﬁsﬁww%ﬁﬁqéﬁm
amaa%rarmw‘az’rmm%m

 SECTION-A

1. Discuss the_ folléwing terms :— :
(@) Aggregat%on -
(ii) Macroecohomic policies
Fefefn wt o =t o ;-
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2. Explain the concept of the uscs-of—savmg |
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3. Discuss the concept of multiplier. (,Dlag

required).
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4. _Whatare t.hé two A:r-:o;ripdner_its' .of _the‘us'er éost (‘)f_
capital? | e BN
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5 'Whatl'i;s' 't‘he'ful'll I_e‘r_r_if-)lc‘)yment 1.)-u'd_ge_t_su.rplus? ‘ '» |
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6. _.Wha'_t are the motives f_or.ho_lding. mpn_ey“?ﬁ |
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7. Explain the relationship between bond price and rate

of interest.
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Section — B

¢

1. What is macroeconomics? Mention the issues of

macroeconomics. that _inacroeéo‘nomist's 'addres‘s\..'
2. (a) Suppose nbminal- GDP :is'$6_6,000 and_rezil GDP is
$62,000, find the value of the GDP-deflator.
(b) List the four components of fotal spelling.
() 7 ¥ i e G $66,000 & SR AT wad
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4. What is the budget surplus? Explain th
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3. (ave two equivalent ways of desctibing S gOOdS

the goods market., Uge diagtamsg to shoW

market equilibrium is achieved
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government purchases on the budget surplus.
golc SRy = %?_m.a@m W R T B A
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5. Following information about an economy are given

as —

C =50 + 0.8YD |
I = Rs, 70

G = Rs. 200

TR = Rs. 100

t=0.20
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(a) Calculate the equilibrium level of income in this
model

»(b)'Calc':ula-tc also the budget surplus

(¢) Suppose that t increases to 0.25, What is the new

" equilibrium inco_me?'
T C=50 +~0._8Y.D“-___
=W
G=200w@
TR = 100 73
= 0.20
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6. Define net export function, An incret

. , gilibrium
marginal propensity to import reduccs the cq

. : . increasc
income level in an open economy, Wh,l,]c an

. " qinpium level
1n autonomous export increases the equilibriv

of income. Explain with the help of a graph.
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7. (a) Explain financial market equilibrium with the help

of money supply and money demand analysis,

(b) What is the money‘multipli@r? If checkable
.deposits (C) is zero, and the reserve #‘atio (9) ls

0.1, find the value of the money multiplier.
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